Arithmetic ~ Monday

1. 1076 - 8 = 10. 457 +10 =

2. 5/6+7/9 = 11. 53.2-8.45 =

3. 38 x0= 12.9/10 - 4/5 =

4, = 18,746 + 2577 |13. 2504 x 16 =

5. 209 x 40 = 14, 3854 + 6 =

6. 8.1+0.001 = 15.% x § =

7. 7231 - 487 = 16. % = 3 =

8. 290,822 - 78,457 = 17.911x 7 =

9. 8100 + 900 = 18. 55% of 595 =
Arithmetic ~ Tuesday

1. 13,391+ 10 = 10. 6 x 600 =

2. 7013 -70 = 11. 5684 + 7 =

3. 5/12 + % = 12.18 - (4 x 3) =

4, = 38,887 -489 [13.279 x5 =

5. 56000 + 70 = 14,4015 = 8 =

6. 479+34-= 15. 5% + 3 =

7. 84,000 + 451 = 16.% x 8 =

8. 44 x7 = 17. 5006 + 100 =

9. 10% - 2% = 18. 35% of 460 =




Arithmetic ~ Wednesday

1. 254 x 6 = 10. 7.002 x 100 =

2. 5/12 - 3/12 = 11.27.8-9.03 =

3. b379 + 7053 = 12. 7 +% =

4. 56 +1-= 13. 6019 x 73 =

B. 77 x77 = 14. 7714 - 8 =

6. 0.221+3.9= 15. 5 x % =

7. 8302 + 659 = 16.11/12 x 7 =

8. 213,402 -75,892 = 17. 215 x 7 =

9. 490+-70 = 18. 25% of 2106 =
Arithmetic ~ Thursday

1. 13,999 +10 = 10. 90 x 120 =

2. 4087 - 200 = 11. 2875 + 6 =

3. 9/10+ % = 12.11-18 + 3 =

4. 55,883 - 674 = 13.885 x 6 =

5. 700 x 700 = 14 828 -9 =

6. 5b+2.69 = 15. 2% - £ =

7. 58,000 -7 = 16. % x 3 =

8. 3% x7 = 17. 3892 = 1000 =

9. 5% -42% = 18. 21% of 672 =




ANSWERS

Arithmetic ~ Monday

1. 1076 + 8 =1345 10. 457 - 10 = 0.457

2. 5/6 +7/9=58/36 11. 53.2-8.45=4475
3.38x0=0 12.9/10-4/5=1/10

4. 21,323 =18,746 + 2577 |13. 2504 x 16 = 40,064

5. 209 x 40 = 8360 14 3854 - 6 = 642 r2

6. 8.1+0.001=8.101 15. % x £ =14/40 or 7/20
7. 7231 - 487 = 6744 16. % +3=%

8. 290,822 -78,457=212365 |17.911x7 =63.77

9. 8100+900=9 18. 55% of 595 = 327.25

Arithmetic ~ Tuesday

13,391+ 10 =13,401

10. 6 x 600 = 3600

7013 - 70 = 6943

11,5684 - 7 = 812

5/12 + % =7/12

12.18 - (4x 3)= 6

38,398 = 38,887 - 489

13.279 x5 =1395

56,000 + 70 = 800

14. 4015 = 8 = 501 r7

479+3.4=2819

15.5¢+3 =63

84,000 + 451 = 84,451

16.% x 8 =16/3 or 5%

42 x 7 = 32%

17. 5006 + 100 = 50.06
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10% -2%2 =96

18. 35% of 460 = 161




Arithmetic ~ Wednesday

1. 254 x 6 = 1524 10. 7.002 x 100 = 700.2

2. 5/12-3/12=1/6 11.27.8 -9.03 = 18.77

3. B379+7053=12432 |12.2+%=19/120r17/12

4. 56 +1=56 13. 6019 x 73 = 439,387

5. 77 x 77 = 5929 14. 7714 - 8 = 964 r2

6. 0.221+39=4121 15.5x% =25/8 or 3%

7. 8302 + 659 = 8961 16.11/12 x 7 = 77/12 or 6 5/12

8. 213,402-75,892=137510 |17.2.15x7 =15.05

9. 490+-70=7 18. 25% of 2106 = 526.5
Arithmetic ~ Thursday

1. 13,999 + 10 = 14,009 10. 90 x 120 = 10,800

2. 4087 - 200 = 3887 11. 2875+ 6 =479 rl

3. 9/10 + $ = 41/400r11/40 |12.11-18+3 =5

4. 55,883 -674=55,209 |13.885 x6=5310

5. 700 x 700 = 490,000 14. 828 - 9 =92

6. 5.5+2.69=8.19 15. 2% - £ =13

7. 58,000-7=57,993 16. % x 3 =12/5 or 2%

8. 3% x7 =245 17. 3892 + 1000 = 3.892

9. 52 -4%2:=9 18. 21% of 672 = 141.12




